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QUESTION 1

When creating a multi-cluster scenario in Sizer, what does the Summary Failover Capacity indicator (N+0, N+1)
display? 

A. The indicator shows the worst resiliency level of any cluster in the scenario 

B. N+0, if the RAM utilization for all cluster in the scenario. 

C. The indicator shows the best resiliency level of any cluster in the scenario 

D. N+0, if the CPU utilization for all clusters falls below N+1 resiliency. 

Correct Answer: C 

 

QUESTION 2

Which type of data is distributed by Zookeeper to ensure availability in the case of node or block failure? 

A. User Data 

B. Metadata 

C. Configuration Data 

D. Snapshot Data 

Correct Answer: C 

 

QUESTION 3

A customer is evaluating Nutanix to replace their existing 200TB filer. The filer is used to store archived images. To
achieve maximum storage density. RF2 and Erasure Coding are proposed. 

What is the minimum number of nodes required to support the maximum Erasure Coding stripe size of 4/1
(data/parity)? 

A. 4 Nodes 

B. 5 Nodes 

C. 6 Nodes 

D. 7 Nodes 

Correct Answer: C 
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QUESTION 4

A two-node ROBO cluster is configured with a witness VM. 

What happens when Node A goes down? 

A. The-cluster becomes unavailable and goes into read-only mode. 

B. All operations and services on the Node B are shut down and go into a waiting state. 

C. The cluster is unaffected and no administrator intervention is required. 

D. Node B sends a leadership request to the Witness VM and goes into single-node mode. 

Correct Answer: D 

 

 

QUESTION 5

A prospect customer\\'s expected workload consists of the following: 

1. 

110 vCPU 

2. 

512GB RAM 

3. 

500TB Storage 
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They need a solution to help decrease storage costs. The majority of their storage requirements come from an imaging
application that stores scanned JPEG images. Which two Nutanix capabilities should be leveraged? (Choose two.) 

A. Erasure Coding 

B. Storage-Only Nodes 

C. Capacity Tier Deduplication 

D. Compression 

Correct Answer: AD 
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